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1. (a) If the demand curve is a rectangular hyperbola
what will be the value of MR? Comment on the

P.T. O.
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nature of relztionship between price elasticity of
demand and TR.
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The table gives two demand schedules. Using onfy

the Total Expenditure criierion, deiermine if
these demand curves are elastic or inelastic.
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P((Rs)| 6 5 4 3 | 2 | 1 ;

0y 100 | 110 | 120 | 150 | 200 | 300

0, | w00 | 150 | 225 | 325 | 500 | 110
Or (34an)

(a) Table below gives quantities bought of comm-

odities X, Y and Z before and after a change in
their prices.

Commodities Before After
Price (Rs.) |Cuantity[Month |Price (Rs.) Quantity/Month
B X 40 . 300 30 400
Y 20 150 10 100
Z 15 100 20 90
X 10 - 150 10 :120

Find cross elasticity of demand from the table
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given between X and Y (exy) and between X and
Z (exz) and find the nature of their relationship.

aell X, Y @ Z ¥ et § e & vl
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. X 40 300 30 400
Y 20 150 10 100
y4 15 100 20 L
X 10 150 10 120

(b)

2. (a)

min @ s W @ T gRet ¥ g e S
X TAY (exy) 3R X TN Z (exz) S @ a
S TR @ (o i SIS 7.5
Does a change in producers ltechnology lead to a
movement along the supply curve or a shift in the
supply curve? Does a change in price lead to a

movement along the supply curve or a shift in the
supply curve? Explain with diagrams.
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Draw the Budget constraint for a person with
income of Rs. 1000, if the price of good X is Rs. 5

and the price of good Y is Rs. 10. .
| P.T. O.
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What is the slope of Budget constraint?
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(b) Explain Consumers equilibrium with the help of
indifference curves and budget line.
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(a) How would changes in consumer’s income affect .

his choice? Explain with the help of mdxfterencc
- curve and budget constraint.
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N INMET FW T2 A9 T qU ISEAA T
& WERA ¥ WA | 7-5
(b) What do you mean by Price Consumption Curve

(PCC)? Derive the demand curve from PCC when

demand for a good 1s elastic, unitary elastic and
inelastic.
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%l 75

3. (a) Draw the Marginal cost curve and Average cost
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curve for a typical firm and explain why these
curves cross where they do.
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(b) Define Economies of Scale and Diseconomies of
Scale and explain why they might arise.
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e 7.5
Or (31ga)

Explain the law of variable propoftion. In which stage
does a rational producer operate?

TfEdRie ST & A S TR R 'R W
T TEETE SAEE IRAET S § 2 | 15

. Compare Perfect Competition and Monopoly with

respect to:
(a) Price and Output
(b) Welfare.
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Explain short run and long run cquilibrium under

monopolistic campetition.

vyt wRrfr ¥ dufafy gur awwEy Wer
TR | . 15

5. (@) In the long run equilibrium, all firms in the

(b)

(a)

(b)

perfect competitive industry earn zero cconomic
profit. Why is this truc? Explain with a diagram.

drefafy wqee ¥ pf sfrfoes sa § el
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o = TR ¥ e | | 7-5
The price paid to each factor adjus:ts to balance

the demand and supply for that factor. Explain
with the help of diagrams.

o I a1 AT oy W 1 Rl 9 e N
TR - 75

Or (3rera) |
The prisoner dilemma in an oligopolistic market is

an exercisc that will show the participants that
cooperation is a choice. Explain.

sy AR A S gfaET T YW A §
R sfrwfTE @ feam 8 fF weeiar T faehed
? | T | 7.5

Why do we get a backward bending labour supply
curve?
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Explain the ILaw of Varizble Pmpo tions. In which
stage will a rational producer produce?

fEdsiia 9@l = M99 ® SHEEC] GRS
TS (59 =90 9 S9ET ST /2 15

Explain the characteristics of Perfect Competition.
P.T.O.
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5. What are the causes of Monopoly" Does a mOIlOpohst
always earn high proflts? |
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6. Define Market. What are the assumptlons of ,«y
monopohstlc compet1t10n‘7 <
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7. What are the factors of product10n‘7 How is the
“demand and supply of a commodlty dlfferent from that

of factors of production?
'mmé’mw@%%waﬁaﬁma
'mﬁmmméﬁ-mﬁﬁmaﬁé?

8. Write short notes on any two of the following:
(a) Marginal and Average Cost’ b
(b) Returns to Scale
(c) Backward Bending Labour Supply Curve.
foe & ¥ frdt @ W wifi feomol fafaT
 (a) Himia qan sitEa @ S
(b) THTT F AT | . ~
(c) 8 AR FHT AT 5 A A | 15
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